uciaHU_LZnH4T 1

alphal3_4eX1X

o

0.05

0.04

0.03

0.02

0.01

alphal3_4eX1X:cyclenum {run == 8304}

11111111110‘1} %TIH’I’I 411171117‘5#“3111’%‘51114

cyclenum

deltad46_12X4eY:cyclenum {run == 8304}

O_I_IJJ.IJJ_IJ.I_IJ_*_IJJ_LIJJJJ.IJJJJ.IJJJ_LIJJJJ.IJJJJ.IJJ.
111101110.5 11111.811121112.511181113.51114

cyclenum

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

8306

3305.5

8305

3304.5

8304

3303.5

8303

3302.5

8302

alpha46_4eY4aY:cyclenum {run == 8304}

0 111101110.8 HTI’I'IH 511121112.511181113.51114

cyclenum

run:cyclenum {run == 8304}

111101110.511111111.511121112.511181113.51114
cyclenum

deltal3_lzx4ex

o

I
o
o

-2

-25

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 8304}

111101110.5111M1111.511121112.511181113.51114
cyclenum

segment:cyclenum {run == 8304}

AL L |
v
H

e
- ......*...............;....... [

111101110.5111M1111.511121112.511181113.51114
cyclenum




usl_4eY

20

15

10

usl_1X:cyclenum {run == 8304}

111101110.511111111.511121112.511181113.51114
cyclenum

usl_4eY:cyclenum {run == 8304}

T
N

1#“m11nr{= %TIH’I’I 411171117‘5#“3111’%‘51114

cyclenum

usl_4aY:cyclenum {run == 8304}

-7

f | ) 11
111101110.511111111.511121112.511181113.51114
cyclenum

usl_12X:cyclenum {run == 8304}

111101110.511111111.511121112.511181113.51114
cyclenum

usl_4eX

8306

3305.5

8305

3304.5

8304

3303.5

8303

3302.5

8302

usl_4eX:cyclenum {run == 8304}

11111.511121112.5Y1181113.51114
cyclenum

run:cyclenum {run == 8304}

111101110.5111M1111.511121112.511181113.51114
cyclenum




-100

-120

usr_4eY

!

usr_1X:cyclenum {run == 8304}

>.K H H H >K

cyclenum

usr_4eY:cyclenum {run == 8304}

105—

;

0%@%@@@%@@
1 01110.5 M1111.811121112.%: B1113.51114

cyclenum

usr_4ayY

usr_12X

usr_4aY:cyclenum {run == 8304}

o

—K

X

AR NN FRETI ERANE FRRRA FRRRE AR ARAN AT
111101110.8111M1111.511121112.511181113.51

1
114

cyclenum

usr_12X:cyclenum {run == 8304}

111101110.81111M1111.811121112.511181113.51114

cyclenum

usr_4eX

120

100

80

60

40

20

8306

3305.5

8305

3304.5

8304

3303.5

8303

3302.5

8302

usr_4eX:cyclenum {run == 8304}

1 01110.8711M1111.811121112.5¥1181113.51114

cyclenum

run:cyclenum {run == 8304}

111101110.5111M1111.511121112.511181113.51114
cyclenum




18000

16000

14000
12000
10000

8000 F

6000

4000

2000

-500

-1000

-1500

—-2000

-2500

-3000

usl_coill:cyclenum {run == 8304}

O:I_IJJ.IJJ_IJ.I_IJ_*_IJJ_LIJJJJ.IJJJJ.IJJJ_LIJJJJ.IJJJJ.IJJ.
111101110.8 11111.811121112.511181113.51114

cyclenum

usl_caoil6:cyclenum {run == 8304}

X

LI L L L B L
.
H
.
.

FETIRRTRI FRURE FRUTE FRRTI RRERY FRUTY FARTE RAAT IAT
111101110.8111M111.811121112.511181113.51114

cyclenum

1500

1000

500

usl_coil3:cyclenum {run == 8304}

0 111101110.8111M1111.811121112. 5:“}%111’% 51114

cyclenum

usl_coil7:cyclenum {run == 8304}

01110.511111111.511121112.511181113.51114
cyclenum

- 5600

i

A

} 5400
5200
5000
4800
4600
4400
4200

4000

8306
3305.5
8305
3304.5
8304
3303.5
8303
3302.5

8302

usl_coil4:cyclenum {run == 8304}

ol b bbb b b biaaa bis
111101110.8111M111.811121112.511181113.51114

cyclenum

run:cyclenum {run == 8304}

111101110.5111M1111.511121112.511181113.51114
cyclenum




yclenum {run == 8304}

usr_coil4:c

yclenum {run == 8304}

usr_coil3:c

yclenum {run == 8304}

usr_coill:c

111101110.411111111.911121112.511181113.51114

e e J

111101110.8111M1111.811121112.511181113.51114

-1000 - -

111101110.411111111.811121112.511181113.51114

cyclenum

cyclenum

cyclenum

run:cyclenum {run == 8304}

yclenum {run == 8304}

usr_coil7:c!

yclenum {run == 8304}

usr_coil6:c

111101110.411111111.911121112.511181113.51114

8306

3305.5

8302 bbb i v oo

15000

111101110.411111111.811121112.511181113.51114

cyclenum

cyclenum

cyclenum



—-100

-120

-140

0

1X_coill:cyclenum {run == 8304}

L | T L L L1
111101110.511111111.511121112.511181113.51114
cyclenum

4eX_coill:cyclenum {run == 8304}

-100

-150

-200

-250

ko x

111101110.411111111.811121112.511181113.51114

cyclenum

4eX_coil3

i
4l

-10

-15

1X_coil3:cyclenum {run == 8304}

0 111101110.8111M1111.811121112. 5:“}%111’% 51114

cyclenum

4eX_coil3:cyclenum {run == 8304}

X

T

111101110.511111111.511121112.511181113.51114
cyclenum

1X_coil7

4eX_coil7

150

1X_coil7:cyclenum {run == 8304}

T T T T T
-
-

50

~
a
o

150

50

... "

1 01110.411111111.911121112.511181113.51114

cyclenum

4eX_coil7:cyclenum {run == 8304}

TT T T T T
-
-

... "

1 01110.411111111.911121112.511181113.51114

cyclenum




yclenum {run == 8304}

4aY_coil7:c

yclenum {run == 8304}

4aY_coilé:c

yclenum {run == 8304}

4aY_coild:c

111101110.411111111.911121112.511181113.51114

L1109” AeY

1100~ At

111101110.8111M1111.811121112.511181113.51114

111101110.411111111.811121112.511181113.51114

cyclenum

cyclenum

cyclenum

yclenum {run == 8304}

4eY_coil7:c

yclenum {run == 8304}

4eY_coilé:c

yclenum {run == 8304}

4eY_coild:c

111101110.411111111.911121112.511181113.51114

-15
-20
-25
-30

-35
-40

L1109 A8y

111101110.81111M1111.811121112.511181113.51114

-140}-

*

111101110.411111111.811121112.511181113.51114

1100~ At

cyclenum

cyclenum

cyclenum



yclenum {run == 8304}

12X_coil4:c

yclenum {run == 8304}

12X_coil3:c

yclenum {run == 8304}

12X_coill:c

111101110.411111111.911121112.511181113.51114

4
_7bL

111101110.8111M1111.811121112.511181113.51114

111101110.411111111.811121112.511181113.51114

-50
-100
-150
-200

cyclenum

cyclenum

cyclenum

run:cyclenum {run == 8304}

yclenum {run == 8304}

12X_coil7:c

yclenum {run == 8304}

12X_coil6:c

3305.5

8302 bbb i v oo

111101110.81111M1111.811121112.511181113.51114

IiAnTv T

111101110.411111111.911121112.511181113.51114

11111.811121112.511181113.51114

111101110.5

cyclenum

cyclenum

cyclenum
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